ORDER OF OPERATIONS, ALGEBRA AND “MEANING”
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1. Separate each of the following expressions into terms. Then evaluate. (Show all steps!) 20 / 20
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2. Interpret each of the following in terms of gains and losses. Then simplify. (Show all steps!) /24
Expression Interpretation in Terms of Gains and Losses SLTFI)E"ﬁed F_orm Answer
Xxpression
(&) —x—(-3x) A loss of 1 “x” followed by a gain of 3 “x’s” —X +3X 2X
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Interpret each expression in terms of groups. Then represent the expression with a diagram and evaluate.
Interpretation
Faﬂar:‘d in Terms of Diagram Expanded
Expression Bienii Expression
X X X 11
Three groups of i oppess s et e R
(a) 3(4x+2) s il e A 12x+6
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c) —3(x+ r y
(€) -3(x+y) -3x-3 y
(d) -2(2x-3y) - it
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4. Simplify each expression fully.

(a) (-3ab-5c)+(ab-c)
= -3ab-5c+ab —¢
= -Zqltab - e A
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